ohg A4 919 A A Sl HEE $A e 2L
A B C D E
-4-3-2-101 2 3 4

O A(-2) @ B(-1) ® C)

on(;)  o=(3)



h<
=2
>
N
N
i)
o
=
1%
5}
)
2
o
>
3
o
rd
il
=)
Ho
4

}_A
o St Q K~

@ 374 @ 474 @ 570 @ 67 ® 77



ol

ol

ol

ol
e
o
el
~
)
o

oF
B
O
ol
e

yl\

@ B(4,0) ® C(4,2)

@® A(3,4)

® E(-3,1)

@ D(-2,1)



ol st o] WA Y 7} Adsfioll= Hy gste] 800 E ol lH-
A Zoll= Aol v @ 5 %S 7roral ofsh 2 3 %
Hastol AAH oz ggo] Sl 2d EeHl 8 x2 & o, x
off ¥t Aor &2 27

@ 0.05x—0.03(800-x) =8 @ 0.95x+0.97(800 — x) = 8
® 1.05x+0.97(800-x) =8 @ 0.05(800 — x) — 0.03x = 8

® 0.05x + 0.03(800 — x) = 8



@ A (-2,-2)2 Al 2AREH ] Holt,
@ A (0,1)2 xZ Yo Holt.

@ A (2,3) % x5l thsto] A H-2 (2,-3) It
@ A (2,3) % Lol diste] A A2 (3,2) °lth
© A (

a.b) 7 A 2427 0] MOl A (b,a) = A 3AHER



6.

e 7104 dhdeste e BF 8 227
H7]
Q@ y=10x @yzg Xy =1
@ xy=6 @y=§ @2=1
X X
© Q.66 20666 ®© .66
@® 6,60 ONCNCNC)




7. y=xolHHEESIL x =1L W, y=6°lct y=2 & o, x o] k=
T-3tefzt.

@ 6 @ 5 @1 @ 2 ® 3






@ 60 ® 62 @ 64 ® 66

@® 58



10. 9= Fy 7hx ol AulEshe 2427

@ shFo] Yol Zol7} x A|7HY uf, §Fe] Z ol y Al7to]tt,
@ 7t27F xem, MZ27F yem 91 A2 9] Yol 20 cm? o]t}

® HH2]Eo] xemQl Y] HolE yem? o|th. (T, YF&-2 3.14
2 Al4h
@ A8 100kmE A% xkm 2 EHEY yAl7to] A

® e FAF 100 & x M| FAE ygolth






56 %
B

<17
>
or
!
< 10 |-
!
uk- ©
=
o
NI ,mr/.‘_ o I~ =
He O © ©
op T+
™ o
* &

SR oo o

H
N CEC



13, 6v-6y=3(r-) ~12 2 o, x -y 9] & T4

@ -1 @ -2 ® -3 @ —4 ® -5



14
= 2
2{;‘ a,b
) o]
(- o
2)+(5:}204 \
x)} ib
=0

3ab —
(a+b)+1
o]}

°
= a
M55 °
5=
x 9
W27

Rl



15. y= _gg DR EIF A (2,2), (k- 2,-4) 2 A 0, k9] FHe?

® 3 @ 2 @1 @ -2 ® -3



